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總體93/下     第一次考試   班級：        學號：           姓名：

Williamson Ch 8-10  (2005/04/14, 9:10-10:50 am)  
I. 單選題 (每題4分，共40分)

注意：答案請寫在選擇題最後一題下面的答案格上。

1. Consumer choice theory predicts that, with identical consumers, fully-funded social security

(a)
always makes all generations worse off.

(b)
makes some generations better off, and cannot make any generation worse off.

(c)
may make some generations worse off and cannot make any generation better off.

(d)
may be Pareto improving.
2. The assumption that current-period labor supply is positively related to the current-period real wage is justified as long as the

(a)
income effect dominates the substitution effect in the short run.

(b)
income effect dominates the substitution effect in the long run.

(c)
substitution effect dominates the income effect in the short run.

(d)
substitution effect dominates the income effect in the long run.
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3. When drawn against the real interest rate, the optimal investment schedule shifts to the left if

(a)
current total factor productivity z increases.

(b)
current total factor productivity z decreases.

(c)
future total factor productivity z( increases.

(d)
future total factor productivity z( decreases.
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4. Buying an item with cash would be an example of money’s role as a

(a)
medium of exchange.

(b)
store of value.

(c)
unit of account.

(d)
none of the above.
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5. The equilibrium effects of a natural disaster include
(a) an increase in the real wage and an increase in the real interest rate.

(b) an increase in the real wage and a decrease in the real interest rate.

(c) a decrease in the real wage and an increase in the real interest rate.

(d) a decrease in the real wage and a decrease in the real interest rate.
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6. A consumer may increase her saving by

(a)
working more hours and consuming more goods in the present period.

(b)
working more hours and consuming fewer goods in the present period.

(c)
working fewer hours and consuming more goods in the present period.

(d)
working fewer hours and consuming fewer goods in the present period.
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7. In aggregation, the assumption that current-period consumption demand is positively related to the real interest rate is justified as long as the

(a)
income effect dominates the substitution effect.

(b)
substitution effect dominates the income effect.

(c)
income effect dominates the intertemporal substitution effect.

(d) intertemporal substitution effect dominates the income effect.
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8. A temporary increase in government spending that leads to only a small decline in lifetime wealth likely shifts the aggregate demand curve to the

(a)
right by more than the rightward shift in aggregate supply.

(b)
right by less than the rightward shift in aggregate supply.

(c)
left by more than the leftward shift in aggregate supply.

(d)
left by less than the leftward shift in aggregate supply.
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9. The Fisher relationship may be described by the following equation in which R is the nominal rate of interest, r is the real rate of interest, and i is the inflation rate.
(a)
i = R+r
(b)
R = r+i
(c)
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(d)
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10. Which of the following statements is true?

(a)  Both the opportunity cost of current consumption and the opportunity cost of holding money are nominal interest rate.

(b)  Both the opportunity cost of current consumption and the opportunity cost of  holding money are real interest rate.

(c) The opportunity cost of current consumption is nominal interest rate and the opportunity cost of holding money is real interest rate.

(d)  The opportunity cost of current consumption is real interest rate and the opportunity cost of holding money is nominal interest rate.

選擇題答案請寫在下面答案格上：

	1.
	
	2.
	
	3.
	
	4.
	
	5.
	

	6.
	
	7.
	
	8.
	
	9.
	
	10.
	


II. 計算題與申論題(每題15分，共60分)

答案請直接寫在題目卷上。
(計算題請寫計算過程，只有答案不計分，式子正確但計算錯誤部分給分。
分析題請做圖與說明過程。)
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1. Tom lives on an island and has 10 coconut trees in the current period, which currently produce 80 coconuts.  Tom can trade coconuts with people for things that he wants. He can also borrow and lend coconuts in the coconut credit market.  A loan of 1 coconut in the current period is repaid with 2 coconuts in the future period.  Each period, Tom’s trees produce, and then 40% of them die. If Tom plants a coconut in the ground in the current period, it will grow into a productive coconut tree in the future period. At the end of the future period, Tom can sell any remaining coconut trees for 1 coconut each. Output in the future period, for given numbers of trees in production in the future period, is given in the following table: (Total: 15%)

	Trees in production in the future,

K’
	Future output of coconuts,

Y’
	Required

Investment, 

I
	Present value of profits,

V
	Net marginal of capital,

MPk’-d

	7
	70
	
	
	

	8
	76
	
	
	

	9
	81
	
	
	

	10
	85
	
	
	

	11
	88
	
	
	

	12
	90
	
	
	


Please fill in all the blanks in the table. (9%)

(a) Show the formula to calculate Tom’s present value of profits. (2%)

(b) Show the formula to calculate the marginal benefit from investment, MB(I).  Please calculate MB(I) when I =1. (2%)

(c) Determine Tom’s optimal quantity of investment, and explain your results. (2%)
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2. Because of the swings of cross-strait policies, there is a prospective future decrease in total factor productivity.  Please use diagrams to determine this effect on aggregate output, employment, the real wage, the real interest rate, consumption, and investment.  Explain your results. (15%)
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3. Suppose that there is a shift in the representative consumer’s preferences. Namely, the consumer prefers, given the market real interest rate, to consume more current leisure and less current consumption goods. Use diagrams and determine the effects of this on current aggregate output, current employment, the current real wage, current consumption, and current investment. (15%)
習題8(不會考，小老師有解答可參考)
4. Suppose that the government establishes a social security program in period T which  operates as a pay-as-you-go system.  The system provides a social security benefit of b (in terms of consumption goods) for each old person forever. The government finances the benefits to the current old by imposing lump-sum taxes of t on the young. Show using diagrams that the young and old alive in periods T+1 and later benefit from the social security program. How does this depend on the real interest rate and the population growth rate? (15%)
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